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SECTION - A
Analytical Ability

S38 dofes

Questions : 75 Marks : 75

Piyes 75 Srdpen: 75

(i) Data Sufficiency | (Marks : 20)
dgrod Dorgad

MNote : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement 1 alone i5 sufficient to answer the question.
(b) Mark choice (2) if the statement Tl alone is sufficient to answer the question.

-{¢) Mark choice (3) if both the statements | and I are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements | and 11 together are not sufficient to
answer the question and additional data is required.

GriSh 1 1 ol 20 HE% adY% (PO P o BE), oD Bod LT 6l Hhes
e God [wodares dgrodor adguera. auiw 0w awdrhow,
Yo [@HdTrw PHD Vareraed) afHodhd Doy wHesar To
) abid ﬁg‘ﬂﬁﬁ-‘ﬁ- & :Jg‘lﬁmﬁl Bod wrdSGyE wrgrw anadrNow
(1) od (4) 58% W0 ward ao wm Job dabod.

() (@HD Srgrve adyodd [WHEte | hr@d boglirand o eare
(1) = bEodiod.

(b) (HH Wrgrho ad)othd (Dbt 11 (D t’.hmga'gﬁnmé o EEPLD
(2) e ool

(€ (@)% Shrgwno adyoidhd Dhdare I, 1T Sud Dogliian oSt o
2.8 8 Erae Horgio SED%d b 2araw (3) e (DCoUod

(d) (@BHS Vorerno adyohd [Ghdore I, 11 Sud Srer Dovgho s°8
&bl dercdo eS8 b aarw (4) e Hootod
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What is the 100" term of a sequence 7

2.8 eb|Eod® 100 H D30 Jod ?

I The sequence is an Arithmetic Progression.
o oS0 9ol [ﬁd

Il.  The first term of the sequence is 5.
o eh| S0 d3nid wio 5.

Can we find the quadratic equation ax> + bx +¢ = 0 ? _
S LEG0 ax’ + bx + ¢ =0 W JgrOoBKLEr ?
I. The sum of the roots is given.
wrore do FurudGod.
1. The difference of the roots 1s given.
rere Pdo adgudod.
Do the two circles wiath their cenfres at A and B and havingradn vy and r, intersect ?
A, B e Soj@resr® iy, r, ed T garoream fo 3ot ©) v podothHordir ?
I Distance between A and Blisa’ umits.
A B e ‘i&ﬁg Cordo "a’ dlrddw.
. |r-r|<a<r +r
Are two triangles similar ?

Sodh |Bgbares D [Bebarer ?

I. They are equilateral.
0 UEs (Biberes.

1.  Their areas are equal.
T ST gen URITRO.

What 15 the arca of a regular hexagon ?

a8 |5 hi:ge.? STUgo oJod 7 _

I A circle of radius “a’ units is inscribed in the hexagon.
2’ Gl amgargo fio D)o wWhR” voddPotuiod.

II.  Each side of the hexagon subtends an angle of 60° at the centre of the circle.
“Eﬁ:ﬂﬁ (28 ghezo D)é So|Ko = 60° §°%0 Tapod.

What is the value of log, ,x ?

log, ¢ aJeda odos ?

I. x>3

I logqc+log 4(x~3)=1

[s ABCD a cyclic quadnlateral ?
ABCD =¥ &|8ab Sy ?

I. The lengths of the diagonals are given.
DEgrL SPURLY SRgGra.
II. A circle with mid point of a diagonal as centre passes through the vertices.

&5 Q50 Wiy Doty So|&orr SO ot R)Eo Freid Yo g SPéoh.
3 P.T.O.
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8.  What is the angle subtended by the chord AB of a circle at a point P on the circumference ?
28 £)d0d" AB o3 arg H)d L0OD P ol Dot HE T oo ?
I, The radius of the circle 18 5 cm.
AL m,sf."l‘gu 5 20.48.
[I. The length of the chord AB 1s 5 cm.
&g AB dY 5 0.0,
9.  What s the value of 119x + 247y ?
119x + 247y odesm odod 7

L. 118x + 246y = 482
Il. x1s greater than y by 2

y S x oD 2 JED.
10. What is the percentage of profit on the sale of 50 books ?
50 dyusto Hbgﬁﬂ}i% e B0 oo ?
L. The cost price of each booki is. ¥ 100,
2088 B0 S"élﬁ-b S, 100K
1.  The sale price of each book 15 ¥ 125
(28 Yto wimSo Ju dr. 125.

11. What is the value ofn ?
N atds oo ?

L 1P?+22+3 4+, +0 =225
II.  nis apositive integer
n 2.8 Hare S Jpgrosw

12.  What is the day of 31" December of an year ?
2.4 Lobdyo GRhonth 31D 88 o oo ePod ?

L In that year the first of March was Monday.
o Doddyo w0y Ensd 86 Tthardo.

I1.  That ycar was a leap year.
o Doddydo HYy Lobdydo.
13. What is the Arithmetic Mean of the numbers x, y, zand t ?
X, ¥, 2, 109200 $0E DEE0 oJod ?
. x+2y-z-3t=K
II. 2x+y+4z+6t=L
14. What is the equation of a straight line ?
2.% L% T DDE8mo o ?
I.  The line is parallel to 2x + 3y = 5.
o Jp 2x + Iy =35 & Laroddo.

Il.  The line does not pass through the origin.
u Op Srredoy) thoae .
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15. What is the value of 8a° + ¥ - 27 7
8a° + b’ —27¢" Deod o ?
I abc =k
I. 2a+bh=3¢

16. 'What is the distance between two ships ?
dod Ldes ‘-iz:-:jg SimGboes 7

I. Seen from the top of a mountain their angles of depression are 60° and 30°,
wed Fwdo wod Wit o ey e en 60°, 30°.

Il.  Height of the mountain is 60 metres.
DTLB0 e 60 v

17. Is (x — a) a fuctor of the polynomial f{x) ?
fix) 2i@008 (x - a) SSorcy ?

L. fla) =0
Il The sum of the coefficients of f(x) is constant.
fix) ibeste Sndo %ﬂ‘ﬂéﬂ.

18. What is the simple interest eamed yearly on a deposit in a bank ?
o8 wrgod dara2d 28 SO Sl 56 DorEh Jod ?

I. The amount deposited is T 10,000.
Gar2d Do o &r. 10,000,

IlI. The rate of interest is 8%,

& Téw 8%.

19. What is the surface area of a sphere 7
28 %o Hvde Frego Jod ?

I. The sphere is made of iron.
& F¢o amdwd Jabwdod.

II.  The radius of the sphere is given,
f*fo rgrdo amgudod.

20. What is the value of x* + y* if xy =17
xy =1 o8 x*+y! Desd Jod ?
. x+y=5
. x>0,y=0

s P.T.O.
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(ii) Problem Solving (Marks : 55)
fqi::révg G

(a) Sequences and Series (Marks : 25)

Note : In each of the questions numbered 21 to 30 a sequence of numbers and letters that

follow a definite pattem is given. Each question has a blank space. This blank space
is to be filled by the correct answer from one of the four given options to c:nmplete
the sequence without breaking the pattern.

RS (D)0 21 od 30 DD Ky ({8 [HHSE alyd dowgw M, sfores M)
28 (D030 Jafvrd) Srduaia. (L8 (HHSW oN) D alyh srwid
od)sy Dod WO wawd aows obEh Jobirdd Hoko S o
roodod.

21. 122:145::257: »r

(& 290 (2) 299
(3) 401 (4) 497
22. 1001 :1332:: : 2198
(1) 1728 (2) 1729
(3) 2413 (4) 2526
23. ABCD:ZYXW :: : YTUS
(1) EFHG (2) EHGF
(3) EGFH (4) EFGH
24. Tiger: Goat: : : Herbivore
DO D _aEmR0
(¥ Camivore (2) Omnivore
Eridets ) = Taleviarii)
(3) Parasite (4) Insectivore
Lo ghy Sos50

25. Quadrilateral : Square : : Triangle :
Sédhyo  Sédo : : |@ghzo

(1) Equilateral triangle [2{ Isosceles triangle
Maperaro (Bdbazo Ddgeram |8gheo

(3) Scalene triangle (4) Right-angled triangle
e dmy |@ghzo vowEe (Bgbeo
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26. Wood ; Chair: : : Ormament
IR 5:5& s s
(1) Coal (217 Gold
aﬁ‘f‘j;. 2omdo
(3) Hammer {(4) Bauxite
woed ﬂ‘i‘}rﬁ_
27. lce: Water :; : Ghee
o fbi'i.:r .  Sawg
(1) Milk (2) Curd
e ~Wleileh
(3) Butter @ 0il
aﬁ:l e
28, ELI'1';:“—11:2:1::__ : ¥n?
nzgn -1 !"' o nli:n + 1!1
(1) =5 B =

3) n{n — Uﬁ{!n- 1) @ n{n + l}ﬁ[ln +1)

29. ABCDEFG : STUVXYZ:: GECA:
(W~ ZXUS (2) ZXSU
(3) ZSXU (4) ZSUX

30.  Volume of a cylinder : Area of curved surface of the cylinder : : nrh:

;féu"&'m abieo 0ErEG 'él::"a'm ob)du ITego : nrh :

(1) mrh (2) 2nrh
(M %m‘h (4) %nrzh _

7 P.T.O.
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Note : In questions 31 to 35 pick the odd thing out :
AR 1 (R 31 od 35 HED VOIS Hlodod

31, (%) sin’r+cos’x (2) sec’r—tan®x (3) tan®r+ cotix {4) cosecir - cot’x
32. (1) Eagle (2) Vulture (3) Owl 4y Crow

u"iﬂé oroth the e =8
33. (1) ABYZ (2) CDWX (3) EFUV (4" GHTS
4. (1) ¥-4=0 2 ¥-3=0 (3) X¥-2=0 4) ¥-1=0
35 (1) (56,11 (2} (6,7,13) (3) (7,8, 15) 47 (8.9, 19)

Note : Each of the questions from 36 to 45 follow a definite pattern. Observe the same and
fill n the blanks with suitable answers.
HaodS @ 36 wod 45 D05 Ho (D af RHdaD dbarrdy ardoamon. & Jabirdy

2000 LE@R Linerras’ o Peid Lrooted.

16 l'J_jl'._I‘[EJ-I_? -3-2
R 53104174 2690 90
37 @) 33 3) 59 @
37. 6,12,20.30, 56 _
(1) >0 - (2) 48 (3) 44 (W 42
g 1827 125 216
T i T R
36 32 64 81
M 13 @n3 - O @ 3
39. 4,1,9,3,16,6,25, 10, 36,
(1) 15 2) 20 (3) 25 4) 30
40. 1,4,27,256,
(1) 625 (27 3152 (3) 1024 (4) 3125
E 11
A L3360 24 * 720 5040
a 3, = & o wle
1 Too 2} T20 G 73 @ 740
42, 4,7,12,19,28, 52
(1) 39 2) 40 (3) 4l (4) 42
43. 1xB.3vo6, 514,
(1) 7r3 @) 7r2 (3) 7v2 4) 7v3
Lo
44, 1,2,3)5;8713721.
(1) 24 @ 26 (3) 29 4 34
45. 5,6,10,19,35,60,
(1) 85 2) 92 (3) 96 4) 105
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(b) Data Analysis (Marks : 10)

The following table gives the details of the 5 commodities A, B, C, D, E required, with
their costs, for 2 family in 2 month.

Study the table and answer the questions from 46 to 48.
a8 HiwoerdS JuH VWONGE § VB A, B, C, D, E dhore. §8u8 0F, (300
LUEST adRdnd. :

LPs LORBoD 46 od 48 e Sargrarfagod.

Quantity Rate/kg in ¥
Commodity | required/month (in kg) &8&F &8 (e odh
¥ 3 - 8 by Py e M
EStEY Sus TRk w0 - Year 1990 Year 1995
& ) obEYE0TI990 | WobSyo 1995
A 10 70 100 §
B 15 40 45
5 | 8 35 40
D ' 25 50 60
E 5 | 58 62

46. The total amount (in ¥) spent on all the 5 commodities by the family in 1990 is
1990 vonEydod” sy 5 VHHuD ¥ Hiwowo DAL o )y (Erarabd®)

(‘-l'j'/ESI (2) 315

(3) 302 (4) 312

47. The percentage of increase (per kg) in the rate of the commaodity E from 1990 to 1995 is
1990 20& 1995 HEH L E S6S° Dibibde mdo (8BS 2.8) 088)

(1) 203% (2r 6.89 %
(3) 345% (4) 17.8%

48. The amount (in ¥) spent extra on commodities B and C in the year 1995 than in the year

1990 is

VoSG0 1990 Eamy 1995 ‘i:uﬁ:égﬁui:‘ niHes B, C o JSpom wiy S Bdo
[ﬁ?é'dhg‘}

(1) 115 (2) 230

(3) 260 @180

9 PF.T.O.
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52.
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The amounts spent by a person under various heads in a month is given in the following
Pie Chart. Based on this information answer the following questions from 49 to 53 :
2& $g8 3o DG LPo (8ol TR W)y Mo (508 bhod® amgudid. G

Y erdo wgrdorm 49 2od 53 DED o [RHoS arerUagod.

If the monthly income of the person is ¥ 54,000, then the difference between the amounts
spent on travel and food per month (in )18

Se,00 Saraho &r. 54,000 sand BSEow, pareoR St i) o (Grdradd®)
(1) 21,600 (2) 16,200 (3) 6,000 (4) 12,000

If the amounts spent on savings and children education put together is T 22,000, then the

monthly income of the person (in ¥) 18
Duu WY, TEYep wdo pdy e 22,000 swd o 98 [0 wordbo

(Grarabd®)
(1y 75,000 (2) 66,000 (3 72,000 w}/ 36,000

The amount spent on children education is equal to the amounts spent on which of the
following two heads 7
Dese BERP Tb wdy) (808 8" 2 Todotip o Pl Marho ?

(1)  Entertainment and miscellaneous  (2) Travel and miscellaneous

D80, addanes Do, addanes
(3) Savings and travel ( Savings and entertainment
Py, (akreso R, o

If the amount spent on house rent in a month is T 5,000 more than the amount spent on
travel and savings put together, then the monthly income (in %) of the person is

(hatreo, DY) Jododn Mo piy) 537 R0G BT &r. 5,000 b pd) B
eehe) Rend warado 1;5??."::‘."»&?]

(b 25,000 (2) 90,000 (3) 1,00,000 (4) 45,000

Monthly savings percentage 1s
Jund oy Téo

8 2 3‘)/I
(1) 135% (2) 135% ( 13;% (4) 14%

10
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In a group of 75 students 28 students study Mathematics (M), 32 study Physics (P), 30
study Chemistry (C) and 15 students study none of these: 13 study both M and P, 12 study
P and C and 10'study C and M. Based on this information answer the questions 54 and 55.

75 food ;Jwggag‘ 28 0% Helerdy (M), 32 Do F°8E 79 (P), 30 od Sarabin
93 (C) Heberd: som 15 2od 8" I SR, 13 wod M, P; 12 ol
P, C; 10 s»of ;‘ngéam C, M o S5hgerd. € wrordo werdon™ 54, 55 [Heb
vargraragod.

&4, The number of students who study only Chemistry is
SAad ey wr|dad God dargdho Domg
(1) 13 (2) 14 (3) 15 m/lﬁ

§5. The number of students who study Physics alone is
8% 7790 S| 83D STAR E:t:r-‘gg}r.: wowg

(1) 10 ™13 3) 12 @ 15

(¢) Coding and Decoding Problems (Marks : 10)
The letters of English alphabet are arranged cyclically. Then the; letters are coded as
follows : (i) a vowel is to be coded as the secondwowel afterdtin the clockwise direction.
and (ii) a consonant is 1o be ¢oded as the second consomant after it in the clockwise
direction. For decoding, the inverse process is.do be followed. Based on this coding and
decoding system answer the guestions from 56 to 60.
woif SFire &R wForu Habom w0, v [B0d Ao G Dabudna.

(1) 28 oy, Ubg 83S°, oo Sovgd o8 wil®H 56 Sabudde.

2) of Irevl, Ubg 83, o S07gd To&' e §'6 dabwind. d5°Goh
Jabaeng D&% DSBY whdoord. & Sfaof, 45°30h wordorr 56 wod
60 235 Ao (DHOD warerar O od.

56. Code word for HAND is
HAND £ E°8 2%0

(1) KIQH {z( KIQF © (3) KIPG (4) KIQG
£7. The word that is coded as RIUT is

RIUT n~ §5& Saberdd 05hm

(1) PAIR (2) PAIW (3) PAAR (4) PUIR
§8. The word that 1s coded as RNIVO 15

RNIVO = 5786 fidbad@s DS

(1) TLATE (2) PLATA (3) PLASE (4) TQUXA

59. The code word for LEAVE is
LEAVE % &8 O

(1) NOIXO (2) NOIXU @~ JUOTO 4) JUOTU
60. The word that is coded as QUEUE is

QUEUE r~ & dabadd Ldam

(1) NIOIO (2) SEOEO (3) NIUIU (4) SIOIO

11 P.T.O.
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61. Ifthe word COMPUTER is coded as iFﬂ:VQHPC. the code word for MEDICINE 15

COMPUTER Lhor08 &8 L¢o RFUVQNPC scw@ MEDICINE % &G DeSaw
(1) EOQJDJEFM (23/EMIDJIFEM (3) EOKDKFEM  (4) EOLDLFEM

62. If the word DWUKPGUU is coded as BUSINESS, the word MANAGEMENT is coded as
DWUKPGUU % 5°6 054w BUSINESS wavd MANAGEMENT % 5°G& dxSsw

(1) KZLZECKCLR (2) KXLXECKCLR
(3) KYLYECKCLR (4) KYLYEDKDLR

63. Ifthe word CENTRAL is coded as LARTNEC then the code word for SEMINAR is
CENTRAL Horo8 858 154w LARTNEC wopd@ SEMINAR & §°G Daw

(1) RINAMES (2) RANMIES (3) RAMNIES (4) RANIMES
64. If the word FLUTE is coded as EJRPZ, then the code word of PLANE 18
FLUTE & £°8 5% EJRPZ wopd PLANE & §°& D
(1) OIXIZ (2) OJXKZ (3y OJXLZ (4) OIJXLA
65. [Ifthe code word for VICTORY is XKEVQTA. then the code word for SUCCESS 1s
VICTORY & €6 &5an XKEVQTA s&@ SUCCESS ® §°G Dl
(1) UWEEGUU (2) VXFFHWV T (3) " UWEEGVV (4) UWEEHUU
(dy Date, Time & Arrangement Problems (Marks : 10)

66. If the first day of March in a year happens to be Friday, then the day on which Indian
Independence day falls in that year 1s

28 0odEBoSW Wl Sv WwES G BETo vwd ¢ Vobd o’ I

Fqsodeetine b Be
(1) Monday {23/ Tuesday (3) Thursday (4) Saturday
Ftardo woiFardo fodbardo HedeT S0
67. Lf a t;::1::3.::}: shows 15 minutes past 3 O’clock then the angle between the hours and minutes
an
2.5 r?éf:wc 3 Ho. 15 Q. Waairdy WrDipod, Hobw, Rware gt ig &m0
1) 20° @) 30° 3y 400 4 175°

68. If the minutes hand of a clock is facing South, then the direction of the minutes hand after
210 minutes 18 '

2.& fGairdod®n Jnire toew Sipo J) X Dpo, 210 Jware SHTE Jwary
fwe rDod &%

(1) North (2) East (3) West (d—/éuuth-‘h‘u":st
G800 ey Al T e

69. A is the mother of B and ﬁ is the husband of C. Then A is related to D as
B,CowayA.C L SED. i D S A (S0b ponogrd) Z8h dodnod.

(Ly* Mother-in-law (2) Mother
wdrmrd ﬂ‘b:g
(3) Daughter-in-law (4) Father-in-law

Effes SEdymeh

12
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Four buses B,, B,, By, B, depart from the station §, and arrive the stations 5, and 5,. The

bus numbers and the order in which they depart or arrive is not the same. The first bus to
leave S, is the second to reach S, and the third to reach S,. The first bus to reach S, is the

second bus to leave 5, and the last bus to reach 51.

Based on this information answer the following questions 70 and 71 :
Freotd wizyes By, By, By, By S, o8 wabesdid S,, S, 1}7&}&”5: DhHodron. W

Bowd M), 62 wabwdd Sar IHHS Vhdirw 288 Y. S, Wod wabesdd Ineses
oy 630 S, B FTHEF e Toa'e, S, » TOOI T8E" Lrds oydod.
S, © DHHT IS w0y sad S, wow wahesdd st Soffe, S, b TLHI
it U008 epibod.

& Varordo sgrdom (808 70, TI (RHod UrerarORg04.

70. The first bus to reach the station S, is
S, = DS Emgﬁndﬂ EJ‘FJ:I:J )

() B, (2B, ©)..B; 4) B,
71. The second bus to reach the station 8, is

ik 8, THHT Col” i)

Wy~ B, (2) B, (3) B, (4) B,

72. In a queue, Anitha is the 10" from the front while Meena is 25" from the last and Mohan
is just in the middle of the two. If there are 50 persons in the queue, the position of Mohan
from the front is
28 HEHHSE dood Rod 10 D Fod® 6, TE wed 25 .gamsﬁ e aod

“0af DO .f.‘J-E!r.E::Eﬁ DgH IS e, LE0E* Awdo 50 Wwod ﬁ:ggzrmnﬂ oth
Lol Irre ¥y, Q‘E‘i‘:ﬂ;‘a

(1) 20" (2) 19" 3) 18" (4/ 7™
73. Ifa+b=a+b+abfora, b e Q then the value of x satisfying (1 # 2) » x = 13 1s
abeQo asb=a+b+abewmwd (1+2)sx=—-13% &) Lo x Jeo

(1 1 (2)y -3
(3) 2 4 -2
" 5 23
74. zn-v-'l:n—:al':,-if]=:-TEE nxin+1)=
1 1 -1 : 1
(1) 2013~ 3013 (2) 2014-3512 (3) 3014 (4) 2013 3014

ab
2
x satisfying x # ¢ = X 18
o a,beR o a:b=a+b+%sc TrRg sl ITm Lowg wowd x*c=xw &)

DD x Desd
(n 1 (2) 2 (3) 3 4y 5

75. Ifasmbh=a+b-—1¥a, beRandifcisanon-zero real number, then the value of

13 P.T.O.
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SECTION -B
Mathematical Ability
el roded
Questions : 75 Marks : 75
[Bwdyew : 75 wrdip et 75
(i)  Arithmetical Ability {Marks : 35)
_8-2nt-6° . s B
76, i {35}3‘(}4_“312--2 -3¢, thena+ f =
8-27)*-6
S L | | I sy } =
G679 (18~ 2 3P, wand, iyt o+ |
1y -7 (2) -8 (3) 9 (4) 8
77. The smallest number among

78.

79.

80,

81.

82.

Va,307.4[5,\J3is
4,37, 4f5,\3 «SHEDY Dowg

1) A @ i @ 45 @ 3
If(a+b):(b+c):(c+a)=2:3:4anda+b+c=09,then the value of c =
I[&-'-h}:[b+u]:{t+a]=1:3:4bﬂlcﬁna-lh"lE=9{?GJJ§,H§}QJE5:'E&J§2‘_
AR =

(1) 3 2 1 3) 9 @ s

A circle and a square have the same area. Then the ratio of the side of the square to the
radius of the circle is

28 H)din D0k 28 SHEN o8 Jrorgd) S8 samow. eyl & S[R0
Eher 8, © RS0 TGS WG fu Janyd

1 n:l 2) 1:= 3) r:l @ 1:=

'\.fﬁ+2ﬁ+1;41\f“ﬁ_
(1) 1442446 @) 1+42+3 3) 2+\3+2 (@) 2+3++/6

54T A5}
7 )

(1) 196 (2) 28 (3) 435 (4) 144

The number that is exactly divisible by 11 among the following is
&: BivHS alyd omged® 11 3 pdydorr e Noled Lowg
(1) 9999999 (2) 88888 (3) 1873410 (4" 2345432

<\ ul 14
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83. The remainder when
73 = 79 x 81

is divided by 11 1s
73 x 79 % 81 D 11 T g Ag R pdh HT) Fasw
'

(1) 1 3y 7 4) 9

84. The greatest 4-digited number which is exactly divisible by each of the numbers 18, 24
and 36 is
18, 24, 36 Vowged (LB d& pddormr yricuwd sred soSy Dopged® Moy
wowg .
(1) 1008 (2) 9999 [1/ 9972 (4) 9936

85. If the l.c.m. of the positive integers a and b is 60 and a® - b* = 32400, then the g.c.d. of
aandbis

Sod Fardys Lowges awBAb b & €30 10 60 0k a? - b? = 32400 sawd, vy
a$00df b o aE) A.Smer.
(1) 30 @) 18 Q). 3 4) 9

86. lfl.r ﬁ] 5 and |3y - lll = §, then the maximum value of %

|x - 6] =5 200k |3y - 12| = 6 scwd, slpds T AW, (104 s

_’*'.

¥

11 11
1 6 @ 2 3 3 @ 5

1 .
87. If 3is added to the denominator of a rational number then that number becomes 3 and if 4

- ; : 3 :
is added to numerator of the same rational number, then it becomes e then that rational

number is

1
28 wddab Dowg Gy For8 3 K018 iyl © Logg T SYHOD, 2bdh ed

eSdddah Vowg gy warls 4 008 b %w@&aﬂh. ey v efdddd Lowg

4. 3 2
1 3 2 5 3 73 (4) -ﬂf
88. The difference between the biggest and smallest fractions among
12,52
\ 369508
1574 .
G 0 Emﬁ‘ 163 Sbak 30 Poyiwe WY Zo
1 5 3 1
3 2 13 G) 7o @ 3

15 P.T.O.
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The ascending order of the rational numbers
13, 11,15 8+
14122 16° 11 °°
13 11 15 8 | :
373 To 11 2500 Lopge sy uffire |Sho
o 18 1o 2L B 131115
() <1816~ 12 () T<12<12"16

8 11 13 15 13 _11 15 8
& T<12<14<16 @ 13512516 T
If 7% of 5% of 8% of x is 105, then x =
x Gl 8% &, 5% 8 7% Jesd 105 soptypds x =
(1) 375 (21 3750 (3) 37500 (4) 375000

If the length and breadth of a récthg!& are jncreased by 20% cach, then the arca of the
rectangle increases by x%, then x =

28 BY BHGo Csy Brdn) WOk Sbeye T (D8R 20 w0 o8, v 8Y
SfLo Frugo x % whibaol. WP x e

(W 20 (E’/IE{} (3) 44

An article when sold at a gain of 5% yiclds rupees 15 more than when it is sold at a loss of
§94. Then the cost price of that article in rupees is

2.8 Duhi 5% orgras H&A‘éﬁ@d}, @ 5% wead ﬁh&ﬁﬁ';‘; ¥o® 15 Grardbed
D h aped. winpd ¢ Sy Fa) wbd, red’
(W 75 (2) 100 (3 150

(4) 144

(4) 200

By selling 15 items, a seller recovers the cost price of 20 items. Then his profit percent 5
15 Sugue wdo oRgoT 2% Hsrmerdd 20 S FW) diw oudord
suybh séd g o

1
35%

(n 25 (2 3?-% (3) 20 (@) 355

A. B. C entered into a business with a total capital of ¥ 50,000/-. A invested T 4,000/-
more than B and B invested ¥ 5,000/- more than C. 1f there is a total profit of ¥ 335,000/~
then A’s share in the profit, in rupees is

A, B, C 2o 3o sureido &r. 50,000 oi 2.8 avgé‘iﬁoti"ﬁ (©3%0wrd B £08 A
&r. 4,000 o JEnd Dead e, C 0B B &r. 5,000 AR WRadl g
S04 HOyo Awdo ordfo & 35,000 wond, crgfost A avE) aer, drarabod®
(1) 8,400 @ 11,900 (37 14,700 (4) 15,000

16
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95.

96.

o1.

us.

99,

A, B and C are runmng a business by investing the capitals in the ratio 2 : 4 : 5. I C's
share in the profit is ¥ 2,200/-, then A's share in the profit, in rupees, is

A, Badal C waf agaroe), Dbade kg 2:4:5 & ). orifod’
C arer &r. 2,200 oad, sk ovgfod® A Gl arér, Grarabed®
(1) 400 2’ 800 (3) 840 (4) 880

Two pipes A and B can fill a tank independently in 20 and 30 minutes respectively. Both
the pipes are opened simultaneously and after 6 minutes tap B is closed. Then the total
time taken, in minutes, to fill the tank, is (assume that the tank 1s empty nitially)

A 20k B o Tokh PP WA HHUM 20 Woak 30 Awired® 28 FFN
Qoditedy ot PYd ¥ stwod 80D, 6 Swikve dhard WYY B O LrdddD.
iy v FTD JoHards HF Bhs Vabo, wired’

(FdoFod” T O dodtod).

(1) 10 @) 15 @ 16 4 12

Tap A can fill an empty tank in one hour, while a drain pipe B can empty that full tank in
6 hours. 1f both A and B are opened at the same instant, the total time taken to fill that
empty tank, m hours, 15

S Aad o 8T o8 Hobd® JoyHhod. o8 wrd TV Y B Lo Jobs ©
FT% 6 dotes® grd Jpob. A bdd B ¢ Sodod 28 stwod’ (2.8 0) 807,
O &) o FF0 JoLarld LF wadbo (Hobed®)

5 3 2 6
I z 2 3 &'3 4 3

A train travels a distance of 60 km in 40 minutes. If its velocity is decreased by
15 km/hour, then the time required by that train to travel the same distance, in minutes, is

28 Tes w0l 60 ES°D0Y Krovdy 40 Jimod® Dofrepod. o Sy Hobk
15 85 andd éﬁ'_ﬁg ¢ Jeowold o &roedy ([wabrmo wabGrna seholih wbabo
Tanired®, el

(1) 45 (2) 60 (3) 54 :‘4/43

A person travels from A o B at a speed of 75 kin‘hour in a car and returns from B to A by
reducing his speed by 15 km/hour. If the total time taken is 3 hours, then the distance
between A and B, in kilometers, is

28 Des e 5oHE® A ol B § ok 75 35%bE JHod Dabrmo E, edd

S0t Kot 15 ESSDOG THyd $0oD, B 20D A & 38R Sy, @3 Db

Ao sPwo 3 Kobes wapd, A Odk B ¢ So¢he Wy cirdo, S oSS

(1) 100 (¥ 80 &y 120 (4) 160
17
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100. Two persons A, B can together complete a piece of work in 12 days, B and C together
complete the same work in 8 days. If A, B, C work together, then that work can be
finished in 6 days. Then the number of days B alone can finish the same work is
A, B w agdr SO0 28 W30 12 Sed® Yrg d3d. B, C w addr 00 od LI

8 Ferg” rd I®. A, B, C o Swipdr £82 WO B © L 6 &erd® Oro
Cabliod. B 25,8 L0 Uro dabes UF S Dowg
(1) 16 (18 @) 24 @) 30

101. A, B, C can individually complete a work in 20 days, 15 days, 12 days respectively. B and
C start the work and they worked for 3 days and left. Then the number of days required by
A to finish the remaining work is
A, B, C w0 2GJGm ¥ VA SO 20 Saren, 15 Saren, 12 Fered® L0

dabifeth. B Dodh C o D00 Sdewodd 3 e 0D 0 DD B8O 30Fard,
DATS DA A g Jaberds D Gere Lowg
(H 1 2) 14 G) 12 4 9

102. If the length of the hypotenuse of right angled isosceles triangle is 12 ¢m, then the area of
that triangle, in square centimeters, is
a8 wouSm Undgwrdry (Bibzo GhE) S8y PEY 12 VoD owd, o Bbeo
Srego SE8L Wod eSS
(1 72 (2) 36 (3) 144 (4) 24

103. If the lengths of the diagonals of a rhombus are 18 cm and 24 cm, then the area of the
rhombus, in square centimeters, is
&8 Ui Déyuo e Sfwe S 18 Vo DoAb 24 Lo, vwd, ¢ U

Sebihz=o @by STego, BEEY 0., vl
(1) 108 (2) 225 (3) 432 (4) 216

104. A cylindrical bar of height Imetre and base radius 0.75 metres is melted and cast as a
sphere. Then the diameter of that sphere in metres is
28 Trarseiy 56 ) 6 | Do WO o) g SrgdEi 0.75 ded. oI

£0fow 2.8 Afdorr 2% 5. m?’..l:p:‘.ﬂ:r w firgo LE:IE'ET mg‘m;, i‘uﬁgﬂg
(1) 2 (2) 1.5 (3) 0.75 (4) 0.50

105. Two boxes have square bases. The sides of these bases are in the ratio 2 : 1. If the heights
of the boxes are in the ratio 1 : 2 respectively, then the ratio of the volumes of the boxes in
that order is
vgrbo Ladrstdorr HOMn Tod VJw aomw. & sgrore gheres 2 @ |

RDBS” G, VP dbes DELM 112 APBS° $08, v B Db VOrEre
XS, o (Eoad®
1y 1:1 2y 1:2 (3) 3:1 (4) 2:1

18
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106. The radius of a cone is 3 times the radius of a cylinder and their heights are same. Then
the ratio of their volumes in that order is

o oy aE mg&l‘gu, 2.8 E‘I‘ﬁ}ﬂ a“g,ﬁ'g'ﬁﬁ fomth Cén god. o8 e
Lehorr Gamyon. ey T8 R VoareT T8, vl (Sod®
1) 9:1 2) 1:3 (3 3:1 @ 1:9

107. A window is in the shape of a rectangle surmounted by a semicircle. If the length of the
rectangle 1s 6 feet and the radius of the semicircle is 2 feet, then the area of the window, in
square feet, 15

2% 888 ) us o, o8 QY JHIROW a8 wdh)go QoW dol. &g
Shdo ) 6 wibibes o eftydo argogo 2 esdorbes wond, u 3458 Gl
Srego, WEby wibibed®

(1) 18 +4n (2) 24 +4n (3) 24 +2n (4ym 18 + 2m

108. 11 cubic metres of steel is cast into cylindrical bars of diameter 10 ems and length
1.4 metres. Then the number of such bars that can be cast with the given metal is

i 22)
[Iaken—- TJ

11 b Hod 6% 10 Dod agho DO 14 deg TEY KON grarsed
£§eom PETE. & adyd irod’ FEFWHAOND seHod 5§ Lowg

['r. - % w Eh?aﬂ]

(1) 10 (2) 100 (3) 1000 (4) 10000

109. The difference between the largest 3 digit natural number x satisfying x = 5 (mod 8) and
the smallest 3 digit natural number y satisfying y =2 (mod 3) 15

x =5 (mod 8) 2 &) vl 0% surh woSw weresowgs, y = 2 (mod 5) 4y éjg&)dﬂ
£ Sardh woSe Wre Dowgs wdg fe 2o

(1) 895 2 0 3) 1 (4) 995

110. If3*¥ = x (mod 10) and if 0 € x <9, thenx =
348 = x (mod 10) 20ap 0=xs9 e 00, H’ib;))di: x=

(1 1 2) 3 (3) 5 4) 9

19 P.T.0.
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Algebraic and Geometric Ability {(Marks : 30)

If p and q are two statements, then which one of the following is a tautology ?
P, 4 e Sodh Phdared, (08 o°8E° 20 Jég Dégo ?

(1) pv(~p) (2) prl-9 (3) -p)rgq (4) pngq

Which of the following is equivalent to the statement P — Q 7

|B08 8S° O P 5 Q 63 (WHSar8 oo ?

(1) PaQ (2) PvQ (3) ~PvQ . 4 ~QvP

Set A has 5 elements and set B has 10 elements. Then the possible maximum number of
elements in A Bis

2.5 008 A & 5 froste, 208 B & 10 Aruste $08 A U B 08<° fogom
G OG RIrLS wowg

(1) .5 (2) 10 (3) 15 (4) 50

Let A be a non-emply set and P(A) be the power set of A. Let R be a relation defined on

PIA)by X RY =2 XY VXY &P(A).Then R 15 not
A 28 orRess DB, A GHEY PE DS PAITKDE P(A) P 8 Jowogo R J (D8

X.Y € P(A), XRY & X € Y '/ g0, Wowogio R (Bodarnd® @b 57 2

(1} an antisymmetric relation (2) a transitive relation
2.8 (2AI gD (antisymmetric) Dowogo 2.8 Lo & Lowogo
(3} asymmetric relation (4) areflexive relation
2% ?.:“@b wowodo a8 DOHIN wowogo

If a function I: R — R is defined by f{x) = x? + 1, then £-1(26) =
2% [Ladbdbo R >R fix)=x2+1 o~ e £1(26) =
(1)  the empty set, ArRgade (2) {"-.fl_ﬁ, - \fi_ﬁ}
(3) {5,-5} (4) {0}

If a line passes through the points (3, -5) and (-2, 7), then its x-intercept is
(3,-5). (-2, 7) Dodopo hoa= Fad LEE0w ), x-wodd wodiw

-5 12 11 11
() 5 @ T . B 3 @ 5

The length of the intercept made by the line which passes through the points (2, 5) and
(-4, 8) between the coordinate axes is

(2, 5) (-4, 8) Dot thom DGD LUET Mrbs g g nr @odd wodo
o)

(1) 125 S (@) 143 (3) &5 @) &3
o = Ssinf-3cosB
If 6 lies in the first quadrant and 5 tan © = 4, then B+ cosl
Ssinf-3cosB

B Fwdd B0S D oo Bch 5tan 6 = 4 sond

1 2 3 ]
D T G = ) 4 @ 12

20

sinB@+2cosB
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119. 1F9+¢=§*lhen{l +tan 0) (1 + tan $) =

u+¢=§ wond (1 +tan ) (1 +tanB) =
M - @ 0 G 1 W @

120. (cos?15° - cos?75%) (sin 65° - cos 35° — cos 65° - sin 35°) =
1 3 3
M 3 (2) 1‘2[ (3) 3 () 3:';:

121. Two poles of height 15 metres and 30 metres stand upright on a play ground. If the feet of
the poles are 36 metres apart, the distance between their tops are

15 5. $»0af 30 &, I He Toth Pogres §8rIE LORON™ GBI, © Yo
Srore dogg drdo 36 DbEawd o8 oo g Erdo
(1) 35 metres/&. (2) 37 metres/a.(3) 39 metres /%, (4) 41 metres /ob.

122. If the polynomial
ard + b + 3t —dx -4
is divisible by (x* — 1) then (a, b) =
axt 4+ bad + 32 —dr -4 93 wdred (- 1) 3 Fyomr e AobGd (a, b) =

123. If (x - @) and (x — B) are the factors of the polynomial fix) = ar? + bx + ¢, then the

1 ).
quadratic polynomial whose factors are (x - EJ and [:c - EJ is

flx) = ax® + bx + ¢ waroalE {x—m},{x—mm?dm‘ﬁs‘nwé, [xi'}[ —-J
Se e OS e N 3}.;.5 P
(1) c®-br+a (2) co?+br+a (3) ex’+br-a (4) cx?-bx-a

124. If63 x 65 x 67 x 69 is divided by 12 then the remainder obtained is
63 x 65 x 67 x 69 &3 Dowga 12 I Ny HEY B0

(n 9 ) 7 (3) 3 (4) 3

25. A polynomial in x leaves remainders 8, 4 when divided by (x + 2) and (x — 2) respectively.
If the same polynomial is divided by x* — 4 then the remainder is
¥ 2Ximihad (x + 2) Dod (x - 2) B AR D) Fres HE%HM 8 o 4 wawd

o8 P (2 - 4) 3 erady HT) Fo
() 12 (2) x+10 (3) 6-x (4y 32
21 . P.T.O.
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If x+y=12

y+z =20 and

7z+x=18
then x-y+z=

r+y=12

y+z=20

z+x=18
Qopd x—-y+z=
(1) 25 (2) 18 3 1 4) 7

A person has a certain number of two rupees coins and some five rupees coins. If the total
number of coins is 16 and the value of all the coins is ¥ 50, then the number by which the
number of two rupees coins exceed the number of five rupees coins is

a8 De& & E') Tod Graraby arare, b ) 5 drardbe Srerew aIma. wébe)
55 &) Mdo Frare wowg 16, 78 Edo Ded S drardbes wond, Tod
Yrrabe srEre wowg 5 drdvdbe P DoRg %) Jod JEpn 7
(1) 5 2y © (3) 4 4y 2

If the first and the sixth terms of a geometric progression arc % and 162 respectively then
the 8™ term of that progression is

2. the (A0 AG, Bid Dores AV = , 162 wond & (#3485 Vo

(1) 324 (2) 729 (3) lI 084 (4) 1458

Three numbers are in an arithmetic progression. Their sum is 3. The third number is
greater than the first number by 16. Then the product of those three numbers is

i Dowges wolFES® aaman. o8 wdo 3. Grdd Jowg MwdE Lowg Sam
16 JERp® wad, v kb $oSe LYo

(1) =63 (2) =36 (3) 12 (4) 24

The term independent of x in the expansion of

g
(313 i) 5
x

4 ]
[E.r" --;] Ir‘_Jgtim:‘.‘r‘ Rdo|d LA (x B D0)
(1) 2Mx3x72 (@) 2¥x3¥x72 (3) 2Mx32x7 (4 2P2x3*x7
If P is the sum of odd terms and Q is the sum of even terms in the expansion of (x + y)",

then P2 - Q2=
(x + y)" Dded®R) Bl wore Bdo P, 00 borw Svdo Q wond P2-(QP=

() -y (2) (x-y)©" (3) (x+y)* (4) -y
22
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4 00
132. If Ais a3 x 3, square matrix and if A Adj A -—[ 0 4 0 ] then det (2A) =
00 4

4 00 '
AnSlIx3uras AAdA=| 0 4 ﬂthhdei‘[Eﬂ}=
0 0 4
(1) 4 (2) 32 (3) 8 (4) 64
{33 lim £-3x-10
A xt_Tx+ 10
7 -
() 3 (2) 0 (3) 3 (4) does not exist
' :hgi‘@éu oD
1 I _ dy
134. IF:=1—T,y=l+Twh=r¢Elsnpu.mme.te:rthendr—
1
x'--l--T,:r--1+%uﬁ'5h5¢}m1&§€Ju-€n&@mﬁ'%
=4 x
= X == s
5 2 < o) 5 @ =

135. 1f A is a square matrix and AT denotes its transpose then the matrix A - AT is always
A 28 SRS w88, ard Qs Dgdedho AT wand Lr@8 A AT Jelrpdr

(1) asymmetric matrix (2) askew symmetric matrix

2.8 TS s uedod. %5 wdran w88 wdob.
(3) an orthogonal matrix (4) a null matrix

a8 wdoow w38 wuydhold. .8 Trog ara ehdod

136. When a piece of wire is bent in the form of an equilateral triangle, then the area of that

triangle is lllxﬁ cm?. If the same wire is bent in the form of a circle, then the area of that

. ] . ; 22
circle, in square centimeters, is [tal-:r: n = "T'-)

af 3 WwHD Vel @bz Erbod® Holhdyd o (Bobe STego
1213 S0.d. of 8id 28 H)do Erdod® Hod, o D)8 Iego, Sy

2odogs’. (r=2 m btos)

(1) 2585 (2) 346.5 (3) 364.5 (4) 3855

137. The sum of all the internal angles of a regular hexagon, in radians, is
2 S0 Wb)ES'D wodd S'ery Mo, JAabpS”

(1y 2= (2) 4n (3) 3n (4) 5n

23 P.T.0.
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138. If two circles of radii, 7 cm and 10 ¢cm respectively touch each other internally, then the
thstan :f: beiween their :cntres in centimeters, 1s
7 2000, 200U 10 Too.as g grw {ie Tod Dyerw woddonr Uy Bodhiod, oo

oo ?&m;’ig Cirdo, mﬁhﬂ;gﬂ
() 17 (2) 3 (3) -3 (4) 5
139, It the mud poinis of the sides AB and AC of a urismgl-:: ABC are (4, -2), ( 8 14)

respectively, then the Iength of the side BC, in units, is
a8 (@2bz=0 ABC &° AB, AC ghare &n-:’:.g Dodbpyes D™ (4, -2), (-8, 14) wopd

gheio BC Gy, e, abrdie®
(1) 20 2y 30 (3) 40 ' @) 60

140. The dislance between the lines

% ' :1"1 | and 8x + 6y = 5 in units, is
X
T+i= 1000 Buk 6y s (EFBwE biss &g, g’
9 9 19 19
1y 3 B ®) @ 15
(iii) Statistical Ahility (Marks : 10)

141. The mean of 6 observations is calculated as 24 and later it was noted that one of the
observations 1s wrongly taken as 24 instead of --24, then the correct mean is
6 wORThe mol awdgardy 24 m Adoln ddhard orddt ¥ LORUSH -24 B

whear™ 24 ©l Sy Einé:i:;i::rr- R, a8 LODH w0l wdigivo
(1) 40 (2) 32 (3) 24 4) 16
142. The median of 15 observations is 32. Each of the observations greater than the median are

increased by & and cach of the observations less than the median are decreased by 6. Then
the median of the new data is

15 Dodune Ddgrhdo 32. Defgrhido Som M &y (D8 DORULD § LO>G
205” wEgHdo S SEpbm &b (D8 LOTUD Wb 6 SV, Fd Seromll
‘ém‘.;igﬁéﬂ

(1) 46 (2) 18 (3) 32 (4) 40

143. The mode of the following distribution :
10, 13,16, 13, 19, 24, 13, 9, 24, 13, 26 is

(5o darenam
10, 13,16, 13,19, 24, 13, 9, 24, 13, 26 8 ardro¢isin
(1) 26 (2} 17 (3) 13 4) 9

144. If the standard deviation of the first n natural numbers is t then 12t2 + 1=
S&E n Vere Dowgy (S dURO t wond 1202+ 1=
(1) n?-1 (2) n? (3) n?+1 (4) n?+2

24
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145. If the standard deviation of a variable x is 12 then the variance of the variable 2x + 17 1s
2. oo x G S DSeHo 12 sond@ Soord 2x+ 17 ¥y 130 oo
(1) 24 (2) 288 (3) 576 - (4) 41

146. If 3 coins are tossed, then the probability of getting at least 2 heads is
S oo HHEEY E00 To e B Dogragd
1 o 1 g I 4y 3
() 3 @ 3 G) 3 @ 3

147. When 2 unbiased dice are thrown, then probability that they show up different numbers 1s
Joth Japrn8E FOEum E0ousbh ardw D&y Dowg oGRS Dogrgd
11 5 25

(1) % (2 35 () % (4) 35

148. In a bivariate distribution X, Y,,i=1,2,....., 8,11 d, is the deviation between the ranks of
X, and Y, and é] diz =21 then the coefficient of rank correlation between X, and Y, 1s
2% 8eiS8 Derebo X, Y, i=1,2,...., 8 &° X; D0ah Y, b, 'l dogg Diuno d,
ese, I_E%,I diz =21 ward, X, D0dbY; e g &5¢3 i owods ibreto
(1y 025 (2) 0.50 (3) 0.65 (4) 0.75

149, If 5 boys and 4 girls sit in a row at random then the probablity that boys and girls sit
alternately 15

5 1t 2 eath, Deslhth wrdEen o8 SHNVS® argyD)Eorm Erinol wred, wrdiw
Jsroddon (.50 Shard .80 ovRards ﬂﬂwﬁgé

2 1 1 1 1
(1 =3 (2) 7176 (3) 120 @

150. When a leap vear 1s selected at random then the probability that it has cxactly 52 Sundays
15

28 &Y Dobhdyody afrg yQysorr Joih%o8 © VobéBodt wydorr 52

wdarorewotdrOs vogragd
2 3 1 ]
3 @ 3 (G) 7 4 3

15 P.T.0.
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SECTION -C
Communication Ability

Questions : 50 Marks : 50
PART -1

Choose the correct answer
151. A situation in which goods or shares are plentiful and buyers can keep prices down is

called
(1) abuyout (2) abuyer’s market
(3) a business proposition (4) abusiness deal

152. A difference in wages between industries or between categories of employees in the same
industry 1s referred to as

(1) differential (2) differential equation
(3) differential calculus (4) differentiate

153. A large corporation formed by the merging of separate firms is knoéwn as a
(1) congregation (2) conglomeration
(3} conclave (4y consul

154. Celebrities who endorse a product are referred to as
(1) Brand Managers (2) Brand Ambassadors
(3) Super Models (4) Glamour Kings

155. Stocks, shares and bonds are collectively known as
(1) Cumulative preference shares (2) Dividends
(3) Securities (4) Equalities

156. A computer language that is used for creating websites is known as
(1) X-files (2y XML
(3) XL (4) X-certificate

157. Connection of networks that can be joined together is possible through
(1) Intranet (2) Extranet
(3) Virtual private network (4) Internet

158. ISDN stands for
(1} Integrated Services Digital Network
(2) Integrated Subscribers Digital Network
(3) International Services Developers Network
(4)  Integrated Services Developers Metwork

159, ELD stands for
(13  Electric Lamination Display (2) Energy Luminiscent Display
(3)  Electro Luminiscent Display (4) Energy Lubrication Display

160. The connection between a computer and another piece of equipment is
(1) parallel processing (2) parallel bar
(3) parallel port (4) parallelism

26
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PART -2

Choose the Correct Answer.,
161. A: “How is your business 7"
B: “I'mbroke!”
B’s answer indicates that
(1}  he has taken a break (2) heis heart-broken
(3) b« has suffered heavy loss (4) he has broken a record

162. A: “You should not have spoken so harshly to him. You know that the fault was yours.”
B: “Iknow. I'll have to eat humble pie.”
‘B" implies that he has to
(1) eat o forgel (2) atone
(3) apolagise (4) forgive himself

163. A: “I have twa tickets for the movie tomarrow. Will you come with me ?”
B: “Could you invite someconc ¢ls¢ 7 Mowvies givé me a headache.”

‘B'is
(1 i (2) busy
(3) not A’s friend (4) not interested in movies

164. *I don’t think his jokes ever come off.”
The speaker implies that the jokes were
(1) unsuccessful (2) brilbhant
(3) uninspiring (4) unwelcome

165. The passive form of the sentence “They are not going to play the match today™ 15
(1) The match 1s not going to be played today.
(2) The match was not played today.
(3) The match had not been played today.
(4) The match cannot be played today.

166. A: “I'msorry I couldn’t come to your party as [ was out of town.”
B: “It’salright. Don't worry about it”,
In this conversation, the speaker “B" is
(1) indifferent {2) disintercsted
(3) understanding (4) critical

167, “When it comes to grammar, she’s really on the ball.”
The speaker implies that
(1) she knows a lot about grammar  (2) she’s bad at grammar
(3) she's lazy (4) she doesn't like grammar
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Fill in the blanks with the appropriate phrase/verb/preposition.
168. A: “Are you going to the bank today 7"

B: “No.I'vealready  tothebank™
(1) been* (2y gone :
(3) went (4) made
169. 1hopetheenquiry will __ the truth.
(1) get behind (2) getat
(3) getby (4) get away with
170. The workers . their gesignation. when their demands were not met by the
Managing Committee. _
(1) gavein (2) paveap
(3) called off (4) tookin

171. Here is the watch that you asked

e

(1) for (2) with
(3) by (4) on
172. Theloanwillberepaid _ two months.
(1) by (2) from
(3) for (4) in
173. It raining for a while, but now it’s raining again.
(1) finished (2) stopped
(3) is (4) goes
174. They are _ the whole family for Christmas.
(1) bringing over (2) bnnging about
(3r bringing up (4) taking up
175. A subordinate has to abide the decisions of his superiors.
(1) with (2) in
(3) by (4) upon
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PART-3
Read the following passage and answer questions 176-180 :

In times of social fragmentation, vulgarity ofien becomes a way of life. To be
shocking becomes more important than to be civil or creative or truly original. Given the
degree of vulgarity in our society, cynicism seems almost irresistible. But Cynicism
represents a secession from society, a dissolution of the bonds between people and
families and communities, an indifference to the fate of anything, beyond the self
Cynicism is deadly. It bites everything it can reach-like a dog with a foot caught in a trap.
And then it devours itself. It drains us of the will to improve; it diminishes our public
spiril; it saps our inventiveness; it withers our souls. Cynics often see themselves as
merely being world-weary. There is no new thing under the sun, the cynics say. They
claim their weariness is wisdom. But it is usually mere posturing . Their weariness seems
to be most effective when they consider the aspirations of those beneath them, who have
neither power nor influence nor wealth. For these unfortunates, nothing can be done, the
cynics declare. Hope is considered an affront to rationality : the notion that the individual
has a responsibility for the community is considered a dangerous radicalism. Ultimately.,
however, the life of a eynic is lonely and self-destructive. Itis our human nature to make
connections with other human beings. The gifl of sympathy for one another is one of the
most powerful sentiments we ever feel. If we do not have it, we arc not human. Indeed it is
so powerful that the cynie who denics it goes to war with himself,

176. What is considered normal in today’s society ?

(1) creativity (2) courtesy

(3) alack of good taste (4) bad habits
177. What have divisions in society led to ?

(1) sanmity

(2) rationality
(3) depression
(4) abelief that people always act from selfish motives

178. Why is cynicism dangerous ? '
(1) It leads to weariness (2y Itis self-destructive

(3) It kills our creativity (4) Itisregressive
179. What characterizes the behaviour of a cynic ?
(b~ Affectation (2) Humility
(3) Generosity (4) Foolishness
180, What quality makes us human ?
(13 Genuine concern for others (2) Quest for power
(3} Quest for money (4) A radical attitude

Read the following passage and answer questions 181-185 :

Production may not be a dominant ideological leverage in economic decision
making, but it cannot be altogether dismissed from economic calculations at whatever
level. The difference that globalization has brought about is not that it has made
production concerns immaterial, but that the leading factor is now the consumer and
production must do what it can to meet the demands of the market. So every now and
again, one comes up against serious production problems at the national level which are
resolved at the global level by importing skills or machinery. Thus while it is true that
consumer tastes are getting more homogenized across the world, production facilities have
not kept up. Economic difficulties at the national level arise from this mismatch.

181. What cannot be kept out of economic calculations ?
(4 Ideology (2) Decision making
(3y Market demand (4 Production
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What is the most prominent consideration today 7
() The consumer (2) The economy
(3) Production (4) Globalisation
Which word does the writer use to descnibe buyer's tastes ?
(1) Immaterial (2) Mismatch
(3) Homogenised- (4) ldcological
What has caused the change in approach to economic decision-making ?
(K Consumer tastes (2) Globalisation
(3) Ilmported machinery (4) Production problems

Al the national level, what is the effect of the discrepancy between production and demand ?
(1} Importing skills becomes necessary

(2¥ Production problems need to be addressed

(3) Demands of the consumer call for urgent steps

(4) Economic difficulties arise in the process

Read the following passage and answer questions 186 - 190 :

The land in Egypt 1s very fertile when 1L1s imeated, and water for irrigation has to
come mainly from the onc big river which Egypt has, namely, the Nile. Therefore, most of
the farming is done near tlus fivern. As the Nile fears the sea, 1t splits into several branches
to form a delta. The land here is very flat; ploughing and irrigation are easy and it is,
therefore, the most highly cultivated area. Further inland, away from the sea, only the
strips of land on either side of the niver are cultivated, There are, of course, a few
imgation projects and model farms, but a large proportion of the Egyptian countryside
remains a dry, sandy desert. In the delta, the main crops are cotton, rice, fruit such as
banana, dates, figs and melons, and vegetables. Cattle, buffalo, and goats are also kept for
milk and meat. Further inland, however, where the land 1s not so flat, and water 1s scarce,
the cultivation is less intense; in this part of the country, there is a scarcity of fresh food,
such as fruit and vegetables, because there is not enough water to grow it. Sugarcane and
wheat arc the main crops here. In the huge, barren deserts, there are wandering herdsmen
who keep goats and camels. Thus it is clear that vast areas of land are lying unused at
present only because of the lack of irrigation. The country can double its production if the
irrigation projects multiply,

What is the meaning of *irngation’ ?

(1) To build dams (23  To supply land with water

(3) To construct canals (4) To cultivate land

What does the Nile form when it reaches the sea ?

(1) A tnangular alluvial tract (2}  Anisland

(3) A lake (4) A tributary

What are cultivated towards the interior of the city ?

(1) Bananas and dates~ (2) Sugarcane and wheat

(3) Cotton and rice (4) Vegetables and fruits

Who are the “wandering herdsmen’ 7

(1) Men with no homes (2) Men who roam with their livestock

(37 Men who tend goats and cattle-~ (4) Men who live in the desert

How can agricultural production be increased in Egypt 7
(1) By cultivating all the land

(2) By introducing new crops

(3F By making water available to uncultivated lands
(4) By growing more fruits
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PART -4
Choose the correct meaning for the word given :
191. bulwark
(1) freedom (2) protection
(3) shipment (4) bundle
192. cower
(1) desent (2) tmd
(3) Ide (4) run
193. plebiscite
(1) statement of loyalty (2) promoter of monarchy
(3) countrywide vote (4) political analyst
194. bizarre
(1) breezy (2)  depressing
(3) very strange (4) bnght

195, Platitude

(1) common place (2) platean
(3) extraordinary (4) misleading
196. feign
(1) faint (2) fill
(3) feel (4) pretend
Fill in the blank choosing the correct word :
197. Conspirators were satirically called __ men.
(1) honourable (2) wicked
(3) lazy (4) active
198. The of information in the organization will be given high priority.
(1) dissemination (2) dissipation
(3) distortion (4) disbursement
199. Bitter experiences make us __though wiser.
(1) better (2) fortunate
(3) sadder (4) obvious
200. The of the flowers enhanced the beauty of the garden.
(1) fragrance (2) odour
(3) smell (4) aroma

3
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